S6168AL

2013-17 RAM 3500, 2013 RAM 2500 6.7L CUMMINS FILTER BACK 4"

DUAL SIDE SPLIT - ALL EXCEPT CREW CAB SHORT BOX HWS0001 375

ZHBSOOOS—O32

HWS0005- 438

HNS0001-375
\“a 15051

HWS0001-375 HWSOOOS—375

HWS0005-438 /
HWS0003.375+ h S HBs0003.032

HNSO001 —375/ﬂ

HGO006

HG006

4.0Ac\.%>
e Q:@ &
15051 W122492
40AC
W122489— 5

W122572

ITEM

NO. | PARTNUMBER DESCRIPTION S6168AL/QTY.
] W122489 4" Y-PIPE ASSEMBLY ]
2 W122572 TAIL PIPE 4" DRIVER SIDE 1
3 W 122492 TAIL PIPE 4" PASSENGER SIDE 1 SHIPPING INFO
4 15051 TIP, 4" IN, 5" OD SINGLE WALL TIP ROLLED LIP 2 WEIGHT [lbs] 47.6
5 HGO006 HANGER KIT 2 HEIGHT [in] 10
6 4.0AC CLAMP, 4" BAND, ALUMINIZED STEEL 3 LENGTH [in] 46
7 HBS0003-032 BOLT, HEX, 3/8-16 X 4.0", GRADE 5 2 WIDTH [in] 16
8 HWS0001-375 WASHER, FLAT, 3/8", IN 2 28 Decermber, 2016
9 HWS0005-438 WASHER, FENDER, 7/16", ZINC COATED 4 REV:D
10 | HWS0003-375 WASHER, LOCKING, 3/8, IN 2
11 HNSO0001-375 NUT HEX 3/8" GRS N 2 i rokuaNce TXHALST




	S6168AL
	Drawing View2


